

Ускладнені рівняння

1 $x - 34 = 6 \cdot 8$

$$x - 34 = \square\square$$

$$x = \square\square\square\square\square$$

$$x = \square\square$$

$$\square\square - 34 = 6 \cdot 8$$

$$\square\square - 34 = \square\square$$

$$\square\square = \square\square$$

$$94 - x = 8 \cdot 7$$

$$94 - x = \square\square$$

$$x = \square\square\square\square\square$$

$$x = \square\square$$

$$94 - \square\square = 8 \cdot 7$$

$$94 - \square\square = \square\square$$

$$\square\square = \square\square$$

$$x : (18 : 3) = 20$$

$$x : \square = 20$$

$$x = \square\square\square\square\square$$

$$x = \square\square\square$$

$$\square\square\square : (18 : 3) = 20$$

$$\square\square\square : \square = 20$$

$$\square\square = \square\square$$

$$25 + x = 17 \cdot 5$$

$$25 + x = \square\square$$

$$x = \square\square\square\square\square$$

$$x = \square\square$$

$$25 + \square\square = 17 \cdot 5$$

$$25 + \square\square = \square\square$$

$$\square\square = \square\square$$

$$x - (27 + 27) = 36$$

$$x - \square\square = 36$$

$$x = \square\square\square\square\square$$

$$x = \square\square$$

$$\square\square - (27 + 27) = 36$$

$$\square\square - \square\square = 36$$

$$\square\square = \square\square$$

$$x \cdot (48 : 6) = 560$$

$$x \cdot \square = 560$$

$$x = \square\square\square\square\square$$

$$x = \square\square$$

$$\square\square \cdot (48 : 6) = 560$$

$$\square\square \cdot \square = 560$$

$$\square\square\square = \square\square\square$$